
����������	
�����
�
�������
��	� 
(Multivariate  Analysis  of  Variance  :  MANOVA) 
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� &����������&��������$�(������'������������	 ������
)*&��������$ ����������'�
 ��
+�*���������)!����������������'����
&�����$ ( A n a l y s i s   o f   V a r i a n c e   :   A N O V A )    ��+������� 
����	��
�	��'��+, ( M u l t i p l e  c o m p a r i s o n s )  &������������'����
&�����$����-�&$�&��%*���

�.���	
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-�)'����*���
/�$&�� ��/������* �!�$ ���
��.���	�*�	������	��������������'����
&�����$&��

���*�	� ( O n e  � Wa y  A n a l y s i s  o f  V a r i a n c e )  &������������'����
&�����$&�����
�� ( Two  �
Wa y  A n a l y s i s  o f  V a r i a n c e )  ��0$��$ ����������'�*���������)!�������&����
&���*��	� ( Un iva r i a t e )  
)$�������	����.1'�
��
������$% �'
��$��� A N O V A   &��
����&����
������'���
������&��
�������
-�
����
��$ ( Si m u l t a n o u s )  &�����&����
���
����
��
��$2���$ ����������'���������������������	 ��
���!������&��������$'���%
�3*	���
-�����
��$
�����&����)!�����������'�����
&�����$���&���'� 
( M A N O V A )  �����)'���*��)$���
-����
� ��)� M A N O V A  /+�� �	$�"�$-���$���	�����	*�$�#���
�-�*��
'�� �����%�$�#��� ���4,� �� ��
+� �+�&�� ( M o de l )  
������� �� M A N O V A     ���������#����$����	����
3�������� ��
+� ���'� s u m  o f  s qu a r e s  a n d c r o s s  � p r o du c t  ( SSCP)  �

��5�$&������� 
M A N O V A   ���
*����������� ����	�������������'�&�����&��/� 

��������������� 
 ��
+�
����$-�
��������'� M A N O V A  ����
���'$��	����	���&����'$��	��
������������0$!�* 
�

�-�$�$�
������-�$�$���&����
'���
��� �������* ( di m e n s i o n )  6"��&
$*��	 p �!�$ ���
����&����
 3 ���
p = 3 �������������	+�)$�+� ���������� ( ve c t o r )  �

��
����!��� g ����
 &��������

� $�*��0$ n 1,
n 2, ..., n g ���������� �����&����
)$���!���&��������
��
�3��������*��$�#
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���!��� 1 : X11 , X12 , . . . , X1n1 
���!��� 2 : X21 , X22 , . . . , X2n2 

... : ... , ... , . . . , ... 

���!��� g : Xg1 , Xg2 , . . . , Xgng 

���������� ��'$��	����	���)* @ &
$*��	 jlΧ 3*	
�� l = 1 , 2 , ... , g    &�� j =
1 , 2 , ... , 

l
n &���������� �����������
�
�����0$ P�X 1   ���$�#$��������	
����$-�
�����	��
�	���$�(��

��0$ ��������
��
�
����'
��$������������ ��� 
�
�����0$ P�X 1 
 

������������������ !"����#���$���������� 
1. 1lΧ , 2lΧ , ..., nlΧ ��0$����	������
 $�* ln 
��������!���
��
���������	 l ; l = 1, 

2, ..., g  &������	���&��������
��0$����������$
2. ���!���
������

��

���6����
&�����$���
��$ ( Co m m o n  Co va r i a n c e  M a t r i x  :  Σ )
3. ���!���&��������
��0$&���������&���'� ( M u l t i va r i a t e  N o r m a l )  ��,� $�*����	���)'1�

�����$%  ��$�#%
�� �
��*$�� 

���
��� (Model) ����$&������MANOVA 
�+�&��
������� �� M A N O V A   �-�'�������	��
�	�����������������	 ( m e a n   va c t o r )    

 �����!��� g ����
 �'
��$����+�&�� �� A N O V A   &�����������)$�+�&�� �� M A N O V A      ��
��0$�������� ��� 

je ll l ++=j , l = 1, 2, ..., g  &�� j = 1, 2, ..., ln
�
��� jle ��0$���&��
��
����&��&��&������&�� Np (O , ΣΣΣΣ )
(���&��&��&���������&���'�
��
�
�����0$ p 
������������������	��0$ O &���
���6����


&�����$���
��0$ ∑ ) µ ��0$����������������	 �����!���
�#�'
*&�� lτ ��0$��������/� �������*

���
-� ( t r e a m e n t  e f f e c t )  ∑ =
=

g

1
0n

l
ll 6"�����$������&�������$ ������������������� jl ��

��*���������+�&�� �����&���*��	� 
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���	� SSCP (sum of squares and cross & product) 
 ���$������ ���������������������
���� �	$%*�)$�+�&��*��$�# 

= + )( −l + )( j −l

(����������) ���������	 ������

����	��� 


�#�'
* , µ)

�������
�, ��
/������*���
-�

lτ̂

�������
�, �����

����*������$ , jel)

)$����������'����
&�����$&��
���*�	���
����'���� S�S ( s u m  o f  s qu a r e s )  
)( j −l )'Χ( j −l &��&	���� S�St  ( s u m  o f  s qu a r e s  t o t a l )  �����0$ S�Sb ( s u m  o f  s qu a r e s  

be twe e n )  &�� S�Sw ( s u m  o f s qu a r e s  wi thi n )  ����������'����
&�����$���&���'��(��7�	�'��/�
*��������
�&	���� S�S )$
-�$���*�	���$ &���$����������$������ ���+�&��)$ M A N O V A  ��0$�������� 
*���$�#$ S�S �"���0$/��+, ����������&��
��$3���� ( t r a n s p o s e )   %*�/��+,���
�)$�+� �� S�SCP  
�!�$ �-������� ���-�$�$ � �	$)$�+� �� −jl

2
j )( −l &���-�'���)$ M A N O V A  −jl

����0$��������� �	$)$�+� ������+,% �� ( c r o s s  � p r o du c t  :  CP)  *���$�#$ ����
��� � ��
���� �	$
)$�+� �� CP %*�*��$�# 

= [ ][ ]′−+−Χ−+− )()()()( jj llllll

= llllllll +−−Χ+−− '' ))(())(( jjj

'' ))(())(( j −−+−− lllll

�
�����
���*��� �� j /��+, ����������������� 2 !�* ��0$�

���6�7+$	�
�#��+� �������� 
( ) 0

n

1j
j =∑ −

=

l

ll
&����
���*��� �� g *���$�#$��%*� S�SCP  *���$�# 

'))(( j
g

1

n

1j
j −−∑∑

= =
l

l
l

l = '))((n
g

1
−−∑

=
l

l
ll

+ '))(( j
g

1

n

1j
j lll

l
l

l

−−∑∑
= =

 

( t o t a lSSCP ( c o r r e c t e d) )  ( t r e a t m e n t SSCP (be twe e n ) )    ( r e s idu a lSSCP ( wi thi n ) )  
 
�

���6� �� wi thi n SSCP ( W)  � �	$%*�)$�+����%�$�# 

jl

)( j −l ')( j −l
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W = '))(( j
g

1

n

1j
j lll

l
l

l
−−∑∑

= =

 

= ( n 1-1) S1 + ( n 2-1) S2 + ... + ( n g-1) Sg - - - �

�
��� lS ��0$�

���6����
&�����$���
 ������
����	���
�� l &���

���6�$�#��0$��,�
���%� 
 �� ( n 1 + n 2 - 2) Sp o o l e d 6"��
��
��
�-���1)$���
*���/� �������*���
-�)$��,�
��
�����	��� 2 ����


$�����'���������� MANOVA 
 �

��5�$��0$���� ( H 0) 
��)!�
*���/� �������*���
-���0$���4,��*�	�������&���*��	� &��
�	+�)$�+� ���������� ��� 

H 0 : 0... g21 =τ==τ=τ

)$���
*��� H 0 )!���������,���� $�*��
��
2� �� S�SCP ��'���������*���
-�
( t r e a t m e n t )  &�����$
���'��� ( r e s i du a l )  &�������,� $�*��
��
2� �� S�SCP ��'�������$
���'���&��
/���
����&�� 3*	
� df �'
��$�������������'�&�����&���*��	� �-�'���������������'���
����$������
�'
��$�������������'����
&�����$ &�� S�S ����0$/���
 ��/��+, ����������&��
��$3���� 
&
$
������0$/���
 ���-�������)$&�������$ *������� 

����� M A N O V A   �-�'�������	��
�	�����������������	 �����!��� 

S�o u r c e   o f   va r i a t i o n  M a t r i x   o f   s u m   o f   s qu a r e s  
a n d  c r o s s  � p r o du c t s   ( SSCP)  

De gr e e  o f
f r e e do m   ( df )  

Tr e a t m e n t  B = )')(( Χ−ΧΧ−Χ∑
=

l

l

ll

g

1

n g � 1

Re s i du a l   ( Er r o r )  W = )')(( lll

l
l

l

Χ−ΧΧ−Χ∑∑
= =

j

g

1

n

1j
j ∑ −

=

g

1
gn

l
l

To t a l  ( c o r r e c t  f o r  the  m e a n )  B +W =
)')(( j

g

1

n

1j
j Χ−ΧΧ−∑ ∑ Χ

= =
l

l
l

l

∑ −
=

g

1
1n

l
l
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����($���)�$&��� 
���
*�����������������D���2'���	�
��� H0 6"�������,�%*������� *∧ ( Wi lks : La m bda )  

�������� ���D���2 H0 ��� *∧ 
�������(�
�� �-�'������ *∧ '�%*�3*	)!���*���$ �� W &�� WB +
����

)')((

)')((

j
g

1

n

1j
j

j
g

1

n

1j
j

*

Χ−ΧΧ−∑ ∑ Χ

Χ−ΧΧ−∑ ∑ Χ
=

+
=∧

= =

= =

l
l

l

lll
l

l

l

l

WB
W

���� *∧ 
���+�&��
���
$�	������&��&��&����E ( F�di s t r ibu t i o n )  
��)!�
*��� H0 )$���&��
�*��	� �-�'�����,����&���*��	������0$��,������ �����&��&�� �� *∧ ���$��,�
���%�6"����0$���&���'�
6"���-�$�$����
����	���
�'���'��	&������
����	��� $�*)'1� ��
������� 	�	���&��&�� �� *∧ 
��
�
$�	������&��&��&����E �����)!�
*��� H0 )'���*�������������$% �-�$�$���&����
&���-�$�$����

����	���%*� *������� 

��������&��&�� *∧  �� Wi lks : �
��� *∧ = WB/W + - - - �

*���������
� *��������)� ����*��*����$�)�$��	�������������
��	�
��� 
p = 1 g ≥ 2 ∑








∧
∧−









−

∑ −
−− g1g n,F~

*
*1

1g
gn

l
l

p = 2 g ≥ 2 )n(2,F~
*
*1

1g
1gn

1g)1g(2 ∑










∧
∧−









−

∑ −−
−−− l

l

p ≥ 3 g = 2 )n,F~
*
*1

p
1pn

1pp ∑







∧
∧−








 ∑ −−
−−l

l

p ≥ 1 g = 3 )n(2,F~
*
*1

p
2pn

2pp2 ∑








∧
∧−








 ∑ −−
−−l

l

��� H0 ��0$���� &��∑ ln = n 
�� $�*)'1� �������� ������� ��� 












+






 +

−−−=∧





 +

−−−
WB

W
ln

2
gp1nln

2
gp1n * )()(

��
����4,����&��&������	%��&���� 3*	
� df �
����� p ( g-1) &�����D����2 H 0 
��
��*��$�	�-���1 α ����������� 

)( 2
1)p(gWB

W
ln

2
gp1n −>










+






 +

−−− - - - �
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����")������������	
�������
�+� 
���
���� 1

�

��
����&����

���$)�7"�4� 2 ���&�� ( p = 2)  
-�������������&����
 2 �������
��$
�������
����	��� 3 ����
 ( g = 3 )  
��
� $�*��0$ n 1 = 3 , n 2 = 2 &�� n 3 = 3 %*������������0$�+� jl

��*��0$&��%*�*��$�#









3
9









2
6









9
7 3*	 1Χ = 








4
8 , 2Χ = 








2
1 , 3Χ = 








8
2









4
0









0
2 &�� ΧΧΧΧ = 








5
4









6
3









9
1









7
2

 ��
+�������������)$���&��&�� ����$ $-�
�&�*�)$�+� ��/���
��������	
�#�'
* /� ��
�����*���
-�&�����$
���'���3*	)!� A N O V A   &�����&���*��	� ��%*���� 

9 6 7 4 4 4 4 4 4 1 -2 -1 
0 2 = 4 4 + -3  -3   + -1 1 
3 1 2 4 4 4 -2 -2 -2  1 -1 0 
 

���������� ���������	
�#�'
* /� �������*���
-� ���$
���'���
&�� S�S ����

S�So bs  = S�Sm e a n  + S�St r + S�Sr e s  
216 = 128 + 78 + 10

To t a lSS ( c o r r e c t e d)  = S�So bs  - S�Sm e a n  
= 216 - 128    

 = 88
�-�'������&��
�� 2 ���
-�)$���4,��*�	���$ ��%*���� 
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3 2 7 5 5 5 -1 -1 -1  -1 -2 3  
4 0 = 5 5 + -3  -3   +  2 -2 
8 9 7 5 5 5 3 3 3 0 1 -1 
 

���������� ���������	
�#�'
* /� �������*���
-� ���$
���'���
&�� 

S�So bs  = S�Sm e a n  + SSt r + S�Sr e s  
272 = 200  + 48 + 24

To t a lSS ( c o r r e c t e d)  =  S�So bs  - SSm e a n  
= 272 - 200    

 = 72
�-�'�����2��-�$�, Χ /� �������*���
-� &�����$
���'��� '�%*�*��$�# 

1Χ = 







++
++

7)/32(3
9)/36(9 = 








4
8

2Χ = 







+
+

0 )/2(4
2)/2(0 = 








2
1

3Χ = 







++
++

7)/39(8
2)/31(3 = 








8
2

Χ = 







+++++++
+++++++

7)/9980472(3
2)/9132096(9 = 








5
4

/� �������*���
-� ( ) ( )−=τ
ll

)

*���$�#$ 4481 =−=) , 3412 −=−=) &�� 2423 −=−=)

8-4 8-4 8-4    4 4 4   
 =τl

) 1-4 1-4      -3 -3  
 2-4 2-4 2-4 -2 -2 -2

=
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$)��� !�	��� je l

) = )(
ll

Χ−Χ j

9-8 6-8 9-8  
je l

) 0-1 2-1 
 3 -2 1-2 2-2

�-�'������&��
�� 2 ��
���'�/� �������*���
-�&�����$
���'���)!���2�����-�$�,�!�$�*�	���� 
���&��
�� 1

����������'�
�#�������$��������$�����'�/���
 �� CP ���
-�3*	��
/��+, �� 
�������&��
�#����
���	+�)$�-�*���*�	���$ &�����&����%*� CP �����
-�)'�%*������ M A N O V A  
�����

�
�+�,� CP 
��%*�������*��	 

���������	 : 4( 5)  + 4( 5)  + ... + 4( 5)   =  8( 4) ( 5)   =  160 
 /� �������*���
-� : 3 ( 4) ( -1) + 2( -3 ) ( -3 ) + 3 ( -2) ( 3 )   =  -12

���$
���'��� : 1( -1) + ( -2) ( -2) + 1( 3 )  + ( -1) ( 2)  + ... + 0( -1) = 1
/���
 : 9( 3 )  + 6( 2)  + ... + 2( 7)   =  149 

 /���
 CP (����&��) = /���
 CP - ���������	 CP
= 149  - 160  

 = -11
*���$�#$����� M A N O V A  ��
��+�&��*��$�#

S�o u r c e   o f   va t i a t i o n  M a t r i x  o f  s u m  o f  s qu a r e s  Df
a n d c r o s s  � p r o du c t s  ( SSCP)   

Tr e a t m e n t   ( B)  78 -12
-12 48 

3 � 1 = 2

Re s i du a l   (W)  10 1
1 24 

3 + 2 + 3 � 3 = 5

To t a l  ( c o r r e c t e d)  
 ( B + W)  

88 -11
-11 72 

7

1 -2 1  �
-1 1

1 -1 0
==
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��������
���%*�*��$�# 

88    -11
-11 72 

=
78     -12

-12 48 
+

10        1 
 1 24 

 
'���� *∧ 3*	)!��
��� � ��%*���� 

2

2

(11)88(72)
(1)10(24)

72
11

 11-
88

24
1

1
10

 

WB
W

*
−
−=




−














=
+

=∧

0.0385
6,215
239 ==

�$������� p = 2 &�� g = 3 )$��������&��&�� *∧ ( �

�����
��0$���� �����&��&��
&�����
�
����$ ���

���6����
&�����$���
) !�#)'��'($�"����
�����)$���
*��� H0

( p = 2, g = 3 )  3*	�

��5�$
��
*��� ��� H 0 : 0...τ g21 ==== ( %
�
�/� �������*
���
-�) &�� H 1: 0≠l (/� �������*���
-�
����
&��������$�	���$��	 1 ��+�) �����
����'�/����

*���
������� �"��-�$�,��������
��
*���&���$-�%�����	��
�	������������ F 
��
� v1 = 2( g � 1)   ,  
v2 = 2( Σ n e � g - 1)  ( �����������&��&�� *∧ �
��� p = 2, g ≥ 2)  ���������
��
*��� ��� 











=







 −








−
−−=









∧
∧−

−
∑ −− 8.19

0.0385
0.03851

13
138

*
*1

1)(g
1)gn( l

���� F �����������&��&��&�� F 
�� α = .01, v1 = 4, v2 = 8 ���� F4 , 8 ( .01)  = 7.01 6"��
8.19 > F4,8 ( .01)  *���$�#$�"��D���2 H0 
��
� α = .01 6"������%*���� /� �������*���
-�
����
&��������$
�	���
�$�	�-���1
�������
����*�� .01 
 )$��,�
�� p 
�� $�*)'1�  ��
+��(��
�
�� "#$��
%�*��	 
-�)'�%
���*��)$���'��

���6� B�
&�� W *���	��������-�$�,2��
*� *��$�#$)$������������� M A N O V A  �"�)!���
��������'��

���6� B�
&�� W

�������	��� 1 
-�)'�
���&$�
�������*�-�$�,��� ��
+�
�������� &��'�� ��
+�
�������� �+�
$�-�
����
-�)$��*��'$"��&��� ��� '��������������������	 �����&��&���

���6����
&�����$���
 �����
&��)$&��������
%��!�#$'$"��&��� ��
���
*��� H 0 %*���
����	��� 2
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���
���� 2
�
7���
'�$��&'��'$"���������7"�4����)!����	��	�*��$� ��$�����	$$��7"�4�)$&������*�����


�����)!����	)$&����'
�*&��������$'���%
� &�����)!����	'
�*)* ��$�����	$$��7"�4�
����
&��������$ 
�"�7"�4����$�����	$
�2	
7"�4� $�����	$��!��7"�4�&��$��7"�4���*����*
7"�4� 
����#��	+�)$� ��
7���

�'�$�� 3*	7"�4����)!����	��	�*��$)$'
�*�����'�� ��������,�������	$ �����$
$���� &�����
��*���������� 3*	��*���)!����	��	�*��$
�'$��	��0$��$��
 %*�����������������	 �����)!����	&���

���6�
����
&�����$���
 �����)!����	��'����'
�*���� @ &������*��*��$�#

��*�� �-�$�$ ����������������	 ������
����	��� 

��2	
7"�4� 
��!��7"�4� 
��*
7"�4� 

n 1 = 271 
n 2 = 13 8 
n 3 = 107 

 
1Χ =



















.360

.082

.480
2.066

 ;
2Χ =



















.418

.124

.596
2.167

 ;
3Χ =



















.383

.125

.521
2.273

 

516n
3

1
=∑

=l
l

�

���6����
&�����$���
 ������
����	��� 

S1 = .291       
 -.001     .011 
 .002     .000     .001 
 .010     .003      .000     .010   
 

S2 = .561      
 .011     .025 
 .001     .004     .005 
 .03 7     .007     .002     .019 
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S3 = .261      
 .03 0     .017 
 .003    -.000     .004 
 .018     .006     .001     .013  
 
*��*&������ : Ri c ha r d A . Jo hn s o n  a n d De a n  W. Wi c he r n , 1988. 
 ����	���$�# g = 3 , p  = 4 ����
��� � '���� W %*�*��$�# 

W = ( n 1-1) S1 + ( n 2-1) S2 + ( n 3 -1) S3

.291         .561  
 -.001     .011       .011     .025 
 .002     .000     .001     .001     .004     .005 
 .010     .003      .000     .010   .03 7     .007     .002     .019 
 

.261      
 .03 0     .017 
 .003    -.000     .004 
 .018     .006     .001     .013  
 

182.962      
 4.408        8.200 
 1.695          .63 3          1.484 
 9.581        2.428           .3 94        6.53 8 
 

321

321 nnn
nnn 321

++
++=









































































=++=

.380

.102

.519
2.136

.383

.125

.521
2.273

561
107

.418

.124

.596
2.167

561
138

.360

.082

.480
2.066

561
271Χ

W = 270 + 137 +

106 

=
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�$�����������
����	���
� $�*)'1��"�
��'��/�
����������� ∑ ∑==∑ 321 $���$��� ����
����	���

���

���6����
&�����$���
��$ (Spooled)

����
*����

��5�$
����� ���)!����	��	�*��$)$'
�*���� @  ��$�����	$$��7"�4���*��

��2	
7"�4� ��!��7"�4� &����*
7"�4� &��������$'���%
� �-�'$* H 0 *���$�# 

H 0 : 321 ==

���
*��� H 0 ��
���)!���������&��&�� *∧ 
�� p ≥ 1 &�� g = 3 ( �$������� p = 4)  
&��)!���
���������-�$�, *∧ %*����*��$�# 

.7714
WB

W
=

+
=∧*

&�� 






 −






 −−=









∧
∧−







 ∑ −−

.7714
.77141

4
24516

*
*1

p
2pnl

= 17.67 
 �-�'$* α = .01 *���$�#$ F2( 4) ,2( 510) ( .01)    = χ2

8( .01) /8 = 2.51 �$������� 17.67 > F8,1020( .01)   

�"��D���2 H0 
����*�� .01 *���$�#$��������	 �����)!����	��	�*��$)$ '
�*���� @  ��$�����	$$��7"�4���*��

��2	
7"�4� ��!��7"�4� &����*
7"�4� �"�&��������$�	���
�$�	�-���1
�������
����*�� .01 �������	��
�	�
������)!� χ2 ����
��� � 
*��� 6"������
����	���
� $�*)'1� ( 516)   �()'�/����
*����!�$�*�	���$

����
� "��� "��	���� 
)$���
*����

��5�$�
��� H0 �+��D���2 &�*���� /� �������*���
-��	���$��	 1 ��+�
��
�/�

&��������$ �"���������	��
�	����/� �������*���
-�)$���&��)*)$����
���� @ 
������	��
�	� g ����

&������	��
�	���0$��	�+���%*� g( g-1) /2 ��+� /� �������*���
-�
�� k ( k = 1, 2, ..., g)     3*	���
�, 
���� XXkk −=) &��������
�,/� �������*���
-�
�� k ���&��
�� i ( i  = 1, 2, ..., p )����

iii −= kk
) �������
�, �������*���
-�
�� l ���&��
�� i ���� iii Χ−Χ=τ ll

) &��/����� �� 
kiτ
) ��� il

)τ ����0$/����� ����������	 ������	���
����0$����������$�������
 6"����0$%���
���4,� ��
���#����$ �����
*���
� ( t � t e s t )  3*	
����
&�����$ ��/����� ����������	*��$�#

ii
k

iki n
1

n
1)Var()Var( iki σ








+=−=−

l

l l

))
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3*	
�� σi i ��0$�
�!��)$&$�
�&	� �� ΣΣΣΣ �-�*��
�� i &��������
�, �� )Var( iki l− '�
%*�3*	&
$ σi i *���	 Wii &��'��*��	 df  �� W 3*	
�� Wii ��0$�
��!��)$&$�
�&	� �� W �-�*��
��
i &�� n = n 1 + n 2 + ...  +  n g $���$��� 

gn
W

n
1

n
1)ar(V ii

k
iki −








+=−

l

l

)

*���	�'��
�����&����

� p ��� &��
�����

������	��
�	���$
��-�$�$ g( g - 1) /2 ��+� )$���
����	��
�	���������	 ������
����	��� 2 ����

�����
-�����
��$
�����&�� ������F�)$�������	��
�	��"�)!�
���� t n � g (α/2m )  �$�������
�����

������	��
�	� m ��+� ( m = p g( g � 1) /2)     

 
$�����'��,�����
� "��� "��	�����������($���)�$&��� 

�����
��������	��
�	������������	 �����&��)* @ )$����

�� k &�� l ���&��������$'���%
� 
�

��5�$)$���
*�������0$*��$�# 

H 0 : lk =

k &�� l '
�	�"� ����������������	 ��/������*���
-�����

�� k &�� l &��)'� kiτ
)

&�� il
)τ ��0$��������	 ��/������*���
-�����

�� k &�� l ���&��
�� i 6"����0$���$������ �� k &�� 

l �

��5�$)$���
*�������0$*��$�# 
H0 : iki lτ=τ

���
*�����������)!����
*���
� 
��+�����%�$�# 

gn
W

n
1

n
1

t
ii

k

iki

−







+

−
=

l

l

))

; df  = n  � g �

�������F�)$�������	��
�	� ��� t n �g(α/2m ) ; m = p g( g � 1) / 2 �����������
� > �������F� ����%*�
��� ���������	 �����&��
�� i ��'��������
 k &�� l &��������$�	���
�$�	�-���1
������� 

���
���� 3
�������	��� 2 ������� ���)!����	����*��$ ��$�����	$$��7"�4�
����
&��������$)$&������*�� 

�����
���)!� � ���������	��
�	�������&��
�� 4 ( X 4 : ����)!����	)$�����*����������) ��'����$�����	$

��2	
7"�4� $�����	$��!��7"�4�&����*
7"�4�&��������$'���%
�%*�*��$�# 

 ��
+��������	��� 2
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

















−−−−
−−−−
−−−−

====−−−−====

.020

.020

.039
.070

)(1 XX
1

) ,


















====

.038

.022

.077

.031

2

) ,


















====

.003

.023

.002

.1 37

3
) ,

182.962      
 4.408     8.200 
 1.695          .63 3          1.484 
 9.581        2.428           .3 94        6.53 8 
 

2414

))
− = -.020    - .03 8    =    -.058 

314

))
− = -.020    - .003     =    -.023  

324

))
− = .03 8    - .003     =    -.03 5 

&�� n = 271    +    13 8    +    107    =    516 

*���$�#$ 
3516

6.538
138

1
271
1

gn
W

n
1

n
1 44

21 −






 +=

−







+ = .0118 

 �
��� p = 4 &�� g = 3 
�� α = .01, n  � g = 513  �������F� �������
��)!�
*�����������	3*	
����
��$
�����&�� &���
�������
����	���
� $�*)'1� '����%*������������&��&��&������ ��� 

t 513  ( .01 / 4 ( 3 )  2)  = 3 .29 
�

��5�$
��
*��� ��� H0 : 2414 =

���������
��
*��� 

gn
W

n
1

n
1

t
44

21

2414

−







+

−=
))

.0118
.058−=

= -4.9152 
 6"����� t > t 513  ( .01/4 ( 3 )  2)  �"�����%*���� ���)!����	�����	����*��$����	���������*���������� �� 
$������	$
�2	
7"�4�&��$�����	$��!��7"�4�&��������$�	���
�$�	�-���1
�������
����*�� .01 

���������
��
*��� H0 : 314 = 
����� -1.7829      &�� 
���������
��
*��� H0 : 324 = 
����� 2.413 8      
���������
��
*���
�#������� < t 513  ( .01 / 4 ( 3 )  2)  

W =
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�"�����%*���� ���)!����	����*��$����	���������*���������� ��$�����	$
�2	
7"�4�&��$��7"�4�
��*
7"�4�%
�&��������$�	���
�$�	�-���1
������� 
-�$���*�	���$���)!����	*������� ��$�����	$ 
��!��7"�4�&��$��7"�4���*
7"�4��(%
�&��������$�	���
�$�	�-���1
������� 

���$��
 
����������'����
&�����$���&���'� )!��-�'�������������'����������������
&������ ��

����������������	 �����!���
��
�
������ 2 ����
 &�����&����

��$-�
��������'�
����
��
��$2���$ )$
����������'��
������������������������	 �����!���&��������$ �(��
-��������������
&��������0$��	
���&�� 3*	
�'���
������������	��
�	���	���&���	+�?�	)��������
-�3*	����
��$ �	���%��(��
���)!� 
M A N O V A   �������'� ��
+����
����������� ���������#����$ �!�$ ���
�
����$ ���

���6����

&�����$���
 �����!��� &��
�'���5�$'����'��/�
��&�*�������&����

����
��
��$2���$ &��'�����
&����

��$-�
��������'�%
�
����
��
��$2��(���)!� A N O V A  �������'�����*������ ��� ��
+���0$%���

 ���������#����$ &���
���
����&����
���$ 3 ��� ���������� ���������#����$ �� ��
+��(*� ���
����������
��
��$2���'�������&����
�(*� ���*�$���'��

���6����
&�����$���
&�����'����*�
�
���
��$$
� ���

���6� ����0$ ���-���*)$����������'�*��	��������-�$�,2��
*� 6"����
���&��% %*�3*	
���)!���
���������������'�*��	3��&��
�-���(��+�

����������� 
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